tetch a graph of the function from the given information. o .
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State the extreme values and their'type.
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2. Answer the following questions using the given graph. (values will all be approximate)
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F'(x)>0: t5 -Duli 3)
Fi(x)<0:( - °°/ 5)u(- 'ﬂ)\)(3r°°)

f(x)>o%: ‘3 ULO,?
F"(x) <0 .
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Does the Mean Value Theorem apply for the given interval? If so, calculate the value(s) of c.
If not, state the reason why.
3) Flx)=x"+3x-1 [-3.1] 4) f(tx:] =x>-Bx+7 [—1,3]
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) f(x)=x*-6x*+9x+2 O<x<4 6)f(x‘)=“'+2 [-1.2]
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Does the Mean Value Theorem apply for the given interval? If so, calculate the value(s) of ¢
If not, state the reason why.

7) F(x)=x*-16x+2  -1zx<3 a)f(x)zé[y3+x-4) [-1,2]

1) (3-61) (7-9)(2,2)
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4x>- 33ax +19=0 £ ()= X7+ é

=.382 (I8 X" 1:0
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10) f(x) =sin(x)—%x -T<XxX<n®

G 15m)(7,-157,)

M = b ,57' "’-57!__-_
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o) = cal)~3 =%

Cos(n) = O
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Using the Min/Max Existence Theorem determine the minimum and maximum values.

11) f(x)=x"-4x*>3x+7 0sx<B 12) f(x)=%[:x3+x-4:) [-1.2]

Label the a? solute max and min on the graph. |
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